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HAND TOOLS

Slitting chisel with guard, for safe work
at heights
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® material: premium chrome vanadium steel
e drop forged

® entirely hardened and tempered

® tip induction hardened

e surface finish: lacquered
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® non-removable riveted metal ring
e tool weight is marked on each tool
® the rings on the tools are large enough to accept 2 carabiners

® Unior’s tools for working at heights have been designed to preserve the tools’ basic functions,
ergonomics and utility, or to reduce them to the smallest possible extent.
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* Images of products are symbolic. All dimensions are in mm, and weight in grams. All listed
dimensions may vary in tolerance.

The carabiner on the The carablner onthe  Before removing the tool  Open the carabiner on

lanyard is attached to lanyard has to be from the belt, unscrew  the belt and remove the
the ring on the tool. The protected against the lock ring on the tool, which is attached to
rings on the tools are opening using a lock carabiner on the belt. a lanyard, from the
large enough to accept ring. carabiner on the belt.
2 carabiners. The tool is now ready for
use.

Correct attachment of Using the socket
the tool to the lanyard. remover (Article 1111)
Return the tool to the depress the pin in the
belt following the steps  hole while removing the
in reverse order. socket from the square

drive of the ratchet and
then switch the socket or
extension.
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